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senflglo / MATHEMATICS

(S wHmD ke el / Tamil & English Versions)

Gpb : 2% wenfl ] _ [ Qurés wHrCueaTser : 100
Time Allowed : 2%2 Hours ] www.tnschools.co.in [Maximum Marks : 100
sifleyenr @ (1) Siemarpg efamss@sd sflurs oiFal Lgeurdl 2 drersm eremLsame

glluriégs Qsrerereyd. SFalLfeier Gapuil@mule mné
sansrasfliurearflb o Lengwrs Csflebliéseain.
2) pewb sd@g s®HUL ewublamen LLHGW aWgusHEL LwaUBSS
Gouamr(id. UL BsET euenyeus@ Guenéled Liwem(hiége .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
A fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

SOy Qeualargsrer preng fleysamens Carem gl

Note : This question paper contains four sections.

9fley - 1/ SECTION -1
(HLQuerser : 15) / (Marks : 15)

GOly : ()  @uaflede o erer 15 eflamésErsE efamLwehése|. 15x1=15
(i) Gasr@ssuLHdrer prang elaisefle Waabd sflurer ellamLmws
GsibAshss @MU (e efaulamanybd Gaisgl er(pgis.
Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1. {(7.11), 5 a)} @@ wrldssrimus GhsHng erefle a” -6 UL :

(=4) 7 ()11 () 5 (FF) 9
If {(7, 11), (5, a)} represents a constant function, then the value of “a” is :
(a) 7 (b) 11 (c) 5 d 9
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2. ab,cerenuen g FL(Hs6asri cufleanguieh 2 eenen ereflen la):lz =
g E # i
(=) 3 (<) _ (@) ¢ ()
If a, b, c are in A.P. then ;: - is equal to :
a b a
@ 3 b < © = (d) 1

3. t,=3-5ncramug @@ FmLHsCsrr euflengulen n -<peug 2 My erafle
9&F L HFSQSTLT cuflensulien s n 2 mliLsaier smhge :

n n n
(1) 51— 5n] (<) n(1->5n) (@) 7+  (m) S(1+n)
If the nth term of an A.P. is t, =3—05n, then the sum of the first n terms is :

@ l1-5n] () n(l-5n) @ F+5m) @ (+m

4. x2+5kx+16=0 erermy FLAUT gHE CLUGWEmSET epeBiger @oameabweafla

8 8 8 8 ‘ 8

k>— k>-—= - —<k< = 7) O<k<—=

(&) 5 (%) = 5 (@) 5 5 (IT) 5
If 24 5kx +16 =0 has no real roots, then :

8 8 8 8 8

k> — k>—- = - —<k< = O<k< =

() 5 (b) 5 (c) 5 5 (d) 5

5. x—4y=8, 3x—-12y=24 craneyd Fwerur(hsaflen QFrEGUADG
(1) Wigelled erafmenilGenauiey Sreayser 2 ereren
(<) &irey Qeverey
() @Crlwmrm Srey w_ O 26
(/) ep(m §r’r@4 BIHSSOTD HHDOG @OTLEID B (HESSGOMLD
The system of equations x —4y=8, 3x—12y =24
(a) has infinitely many solutions
(b) has no solution

(c) has a unique solution
(d) may or may not have a solution
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A -a1 euflens 3 x4 womb B -an cufleng 4x3 erafley BA-e cuflens

(=) 3x3 (25) 4x4

(@) 4x3 (FF) euenpum&SILL eNlebeney
If A is of order 3 x4 and B is of order 4 X3 then the order of BA is :

(a) 3x3 (b) 4x4

() 4x3 (d) not defined

2¢—3y+6=0 erenip CriCariigen x, v eul(H giarHiser (penmGul

(1) 2,3 (=$)3 2 (@) -32 (/) 3 -2
The x and y intercepts of the line 2x — 3y +6=0, respectively are :
(@ 23 (by 3,2 (¢) . =32 (d 3, -2

(0, 0), (2, 0), (0, 2) AW LeraflseTad enWD PECETETS e LiFiL :

(1) 1 5. SOEGSH6T (<) 2 5. SGSHET

(@) 4 5. AOGHSET (FF) 8 & Sje@seT

Area of the triangle formed by the points (0, 0), (2, 0) and (0, 2) is :
(@) 1 sqg. unit (b) 2 sq. units

(c) 4 sq.units (d) 8 sq. units

ULEH® LPAB=120° eeiled /BPT =

B
C
Q’QOA
< P rj;
(1) 120° (<=4)30° () 40° () 60°

In the figure, if /PAB = 120° then /BPT =

B
C
\q’QA
) P T
@ 120° (b) 30° (c) 40° (d) 60°
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10.

11,

s

13.

14.
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@@ auqQeurss aps&Carartiiser AABC whmitb ADEF <y dluiaupilen snoereysar
wanCGu 36 Qs.8, 24 Q&.15 Guogyb DE= 10 C&.5 erafle) AB=
(=) 12 Q&5 (<4,) 20 Q&5 (@) 15 d&.8 (/) 18 Q&8

The perimeter of two similar triangles AABC and ADEF are 36 cm and 24 cm respectively.
If DE=10 cm then AB is :

(a) 12 cm (b) 20 cm (¢) 15 cm (d) 18 cm

sin (90°—0) cosb +cos (90°—6) sinf =

(o1 (<25)0 (8) 2 () -1
sin (90°—0) cosf +cos (90°—6) sinf =
@ 1 (b) 0 (© 2 d -1

9 tan20 —9 sec?0 =

(et (<25)0 (@) 9 fuey 2

9 tan20 —9 sec2 =
(@ 1 (b) 0 () 9 (d -9

am HamoCsrargdean aumerurliy 24 Gg.82. 2ips Cerargams Qram®
Sanr&Cararmsaral Gfgsrad e &@w0 SorsGararmsaiid qerdler
Qorgsl Lpliugliy

(=1) 12 Q&.5? (<=1) 8 Qa.5? (@) 16 Q&.52 (%) 18 Q&.15?

Curved surface area of solid sphere is 24 cm?. If the sphere is divided into two
hemispheres, then the total surface area of one of the hemispheres is :

(a) 12 cm? (b) 8 cm? (c) 16 cm? (d 18 cm?

n e MUiLsET CsTanL eThs e cransaien eTEulinEw x —x) =

(1) Zx () x (@) nx (#) 0

For any collection of n items, 2( x — }) as

(@) 2x (b) «x () nx @ o
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15. @m 2nd fspsdluier flspsse
(=) 1 (=)0 (@) 100 () 0.1
Probability of sure event is :

@) 1 (b) 0 (c) 100 d) 0.1

Sifley - 11/ SECTION - II
(bdllCuaraser : 20) / (Marks : 20)

@Oy : () usg eleTTssEnsaE cllenLwatlsseyL. 10x2=20
(i) oflewm erewr 30 - &©E SargluUTs el well&seab. WP e
14 erssailalimbg TCsab 9 ellamasmens Caiay CFwa]ib.

Note : (i) Answer 10 questions.

(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. A={4,6,7,8 9 B=(2 4, 6} bihmb C={1, 2,3, 4, 5, 6} erafled AU(B N C)-gé
STETS.
IfA={4,6,78 9, B={2 4,6} and C={1, 2, 3, 4, 5, 6} then find AU(B N C)

17 X={1,2,3, 4} erens. f={(2 3), (1, 4), 2 1), 3, 2), 4 4)} eramp 2 pay X -O(WHHS
X -&(@ Qb STTUMGLON eTam ,rmils. 2 6 lenl_&@ DD eNeT&EsD F(Hs.

Let X={1, 2, 3, 4}. Examine whether the relation given below is a function from X to X
or not. Explain.

f=123), (L, 4), (2 1), G 2) 4}

18. 4,9 14..... aranp Sl (H&GsTLT cuflensullen 17-<peug 2 mUmLE STENS.

Find the 17th term of the A.P. : 4, 9, 14......

19. m?-3m-18, m?+5m+6 yHwu Carercusefler 15.QuUT.cu. STeTs.

Find the GCD of the following :
m?-3m—18, m?+5m +6.
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20.

" o1

22,
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~ 7 4 +/3 bpmib 7 — 3 Hweunenn eperisertads CQsream @rmuigd Fwerum(

REATHNET D EHLDES.

Form the quadratic equation whose roots are 7 + /3 and 7 — /3.

1 3 : ; ; i« . .
A= (9 —6] erafled, Al=IA=A, eranuangd sflwnigs. @@ 1 eramug euflens 2

QaTeTL 6@, 2anfl.

1 3
If A= (9 3 J then verify AI=IA = A, where [ is the unit matrix of order 2.

(2a+2, 3), (4, 2b+1) Y Hwu yeralgmer @amansEGhd Carl (g 6hrig.an
BhUyearafludenr wsbgreneeiser  (2a, 2b) erafled a, b gy dlweummdlen

C HULE®ETE HTRTS.

23.

The coordinates of the midpoint of the line segment joining the points (2a+2, 3) and
(4, 2b+1) are (2a, 2b). Find the values of a and b.

QR el Lgdler AB, CD erangild @ Braumraer eranmGuirenn o L Lnors
P -ulléb Qeuligd Gamerdlenmer. CP=4 Qg..5, AP=8 Qg..5, PB=2 Qg.15 erafleo PD
- D& SIS

AB and CD are two chords of a circle which intersect each other internally at P. If
CP=4 cm, AP=8 cm, PB=2 cm, then find PD.

Wareu@md WwHADTHewenw Hlme,s.

\/secze + cosec26 =tan 0 + cot 6

Prove the following identity

\/sec26 + cosecze =tan 6 + cot 6



25.

26.

27,

28.

29,

30.
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30 8. Beraperar ¢ sbusHern Hlpader Hard 1043 8. erafled @ flwelear ohmé
Caramsdlen (sevr L LSHNmbE THH&ECHETaRTD) Sjereilanens &mems.
Find the angular elevation (angle of elevation from the ground level) of the sun when

the length of the shadow of a 30 m long pole is 10/3 m.

a@(m Hewro Crieul_L o (Henerullen 2Ly 14 Q&5 whmid 2 wrb 8 Q&8 erafe
S|gen GIrSsL LDUUTUILS STEs.

A solid right circular cylinder has radius of 14 cm and height of 8 cm. Find its total
surface area.

4.2 18, L peer arsGarer eugeus Gariguid Hlriudu@n Bher sear
Sjerenel Ol Lifled Hmemrs.

How many litres of water will a hemispherical tank hold whose diameter is 4.2 m ?

s 10 @uied erawrsatien L elessd Srems.
Find the standard deviation of the first 10 natural numbers.

el LigenLs6T Cr Grrsdled o ml L LumbGuTs) epemm) ua;em_assrﬂgum Cr
et S Liugharer Hlapssluier flspsseilamens srams.

Three dice are thrown simultaneously. Find the probability of getting the same number
on all the three dice.

() a;=12i-3j| eramm emuyssmars dara, aflens 2x3 2 arar Siawfl
= [ay] -WeaT BEWEHELD.
EATANYY
(=) B, —4) erexmp yemertl cuiflé Glacdaid HMID Ui SHEHHEHEE, GMETLITE
2iwhs CrrsCar(saian FoaUT(HEmars &rems.

(@) Construct a 2X3 matrix A= [aij] whose elements are given by = |2i-3j|
OR

(b)  Find the equations of the straight lines parallel to the coordinate axes and passing
through the point (3, —4).

4073
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8
91fley - 111 / SECTION - III

(10 Quginese : 45) / (Marks : 45)
www.tnschools.co.in

@Y : () 9 laTEsEnsE @S]mL_u_laﬂésa;me.

Note

31.

32.

9x5=45

(id) oewr  era 45-5@ sargqlurs el weldseybd. g
14 eflemrésefafmpbs TCaamib 8 dlamssmend Csirey Ggwwa]ib.

: (i) Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first

14 questions.

QeuarLIL_fisemart] Lweru®sE A\ (BN C)=(A\B) U (A\C) eremmiLb g -LOTF&eTen |

sanadsdwure alfulemans sfluntéseib.

Use Venn diagrams to verify De Morgan’s law for set difference

A\(B n C)=(A\B) U (A\O).
gy f: [1, 6) - R - pang Gameu(morm euarwmissUuL (HeTerg).
1+ x, 1<x<2

fx)=42x—-1, 2=x<4 (1,6)={xeR:1=<x<6})
3x2 — 10, 4< x <6

(=) fO) (<) fG) (@) f (7) f@-f@ () 2f(5)-3f(1)

S Aweupder LI SMETE STeHTs.

A function f: [1, 6) — R is defined as follows :

{

1+ x, l1=sx<2
f(x)=42x—-1, 2<x<4  (Here[L,6)={xeR:1<x<6})
3x2 =10, 4< x <6 ' ' ' ‘

Find the values of

(@ f0G) CRIC) © f@ - @ fQ-f@ (

2f(5)—3f(1)



33.

34.

35.

36.

37
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11 Gg.185, 12 Q&.15, 13 Qg8 ... 24 Q&8 g dweaupep popCu LES
SleraEmes GsraL 14 sgrmsaflar Qurgsy Lrly Srers.

Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13 cm, ........ , 24 cm.

Sengaupm Bl e @ubdriu fer Cousb wearllée 15 §.15. erens. UL G
ECyrigden Havsufled 30 .05 gy Gsary GneE erdisdeaslia Smbd
4 wenll 30 HlBl_rigafled Wer®o LplLLL QLsding Hmod eupgsred Ffler
Cousdnss &Tes.

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and returns
downstream to the original point in 4 hrs 30 minutes. Find the speed of the stream.

) a2~16x2a2—3a—2 .3a2—11a—4
F(HSGHS : e
GG a® -8 2a% +9a+4 a® +2a+4

a®~16  2a°-3a-2  3a’ —1la-4
a -8 2a% +9a+4 a’ +2a+4

Simplify :

. 6

GreuEng FHlLMT&E&e|LD.

i 2), B=[—2 ;) OO M C=(_; ;) erafle®o A(B+C)=AB+AC

3 2 — ¢ 11
IfA=(_1 4), B;—.( z g]and C=(_5 3) verify that A(B+C)=AB+AC,

(=4, =2), (=3, =5), (3, —=2) v (2, 3) PFw yYereflsamer o saTTES
QarertL. BrosysHlen LUFLenLE Sraums.

Find the area of the quadrilateral formed by the points (-4, —2), (=3, —5), 3, —2)
and (2, 3).

[ Hwliys / Turn over
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38, (3, 4), (-1, 2) erenp Yarafgmer @eamamsGh CrTsGCaTi (H)S g 6y 6
DLWEGSSIE CHTigan FOGTLITLMLE STans.

Find the equation of the perpendicular biséctor of the straight line segment joining the
points (3, 4) and (—1, 2).

39. sigluml 0fgsns Capnsams sl Hlimdss.

State and prove Basic Proportionality theorem.

40. 500 8. 2 wrsHed LPHEE QsTaTEHEGD @ CanadlsTiL felmbe Qe
@ <phdlen @ samrsaid CrArHyrs 2 drer G ur@mLsmar 30°, 45° Qnéss

Caramiisaie sramdpri rald opphar oswsmas srems. (V3 = 1.732)

A person in an helicopter flying at a height of 500 m, observes two objects lying opposite
to each other on either bank of a river. The angles of depression of the objects are 30°

and 45°. Find the width of the river. (\/5 = 1.732)

41. @@ Gpiaul L smbldar GaLssam_gdear @MmUDIPL AMWLDHS UL L
afeflbysefier shmareisar apGu 44 Qe wHmd 84 w Gg.8 erens. igar
o wirh 14 Q&5 eraflled SieucllanL_GsamTL 6T SIS HTCEHTS.

The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 w cm. If the depth
is 14 c¢m, then find its volume.

42, seflwameey LwaLOSE @ wrarale 48 Q&8 2w 12 Q.5 HFepb
Qararr CriT UL Hamrind gnibenuid CEISTT. Si&smben WHEMT(H LmeTelT
@ HamwsCararons wrHdlarmi. eueurm wrHpiul L. yHw Carergdlen
DTHMSE SHTEHT5.

Using clay, a student made a right circular cone of height 48 cm and base radius 12 cm.
Another student reshapes it in the form of a sphere. Find the radius of the sphere.



43.

44,

45.
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Ep samL L eumarmuile darhssuul Herer Larel eleugsdler i
Messsmss saTaHdl(Hs.

x | 3|8 [|13]18(23
f |7 (1011510 8

Calculate the standard deviation of the following data :

x |38 [13[18]23
Fl7[10]15]10] 8

Qm Errem useLsHT @Mmuen 2 @GLlLlUuBamear. SpsEsTan b
FlapeslsEnsaran Hapsseieanas srams. '

(=) & eramseilen &mOse 8 -<us QHSHD

(=) (P& eTaraer G TETHETTS @)(HSSHED

(@) s cramsaien s 8-8 i HFEOTE QMHSSD

Two unbiased dice are rolled once. Find the probability of getting :
(@ asum8 (b) a doublet (c) a sum greater than 8

(=) @@ Qu@BEEGS GsTiflear w e n, 2n LOHMD 3n HwW 2 iy sefler
FOsOsar WanGw S;, S, LHMWD Sy eraflé S;(S3—S,)=(S;—54)? eran
Hyieys.

360608
(=) a O B ereie 3x%—4x+1=0 eTenenLd FETUTL IG6T (LPBIGET 6Terfleh
o? B> '
r LOHMDL —PHweaheon POERSTTES CsTaETL @MUY E
04

FLOGTLITL g NG HEHLDEE.

(a) If 59, 55 and Sy are the sum of first n, 2n and 3n terms of a geometric series

respectively, then prove that S;(S3—S,)=(S,—5;)>

OR
(b) Ifaand B are the roots of the equation 3x?—4x+1=0 form a quadratic equation
' 2 2
: a
whose roots are — and E—
B «

[ SmliLs / Turn over
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Yifley - IV / SECTION - IV
(HlliGlueraer : 20) / (Marks : 20)

@MUY : @auleurm elermellgud o drer @rar® wrHn ellarrssaiadBHS @b
aflamraneus Coiboshss B clamss@rs@n alaL weallgsand.  2x10=20

Note : Answer both the questions choosing either of the alternatives.

46. (1) 3 Q&S gy reperer aul LD auanys. culLgdlenr evwwisHalmpg 7 Q&8
Qareneailer e LeTatlanwids @hisg U eratluledlmbg eulLgHn G
QsrHCar@sdr auays. Cogib QsrCarhsaller Fargms oarbg
T(PEIG.

S| VEVG)

(1) AB=7 cm, /A =80°, AD=4.5 Qg.15 wpmid BC=5 Q&.15 ereamn jereysar
Qamrarr eul L BrH&yD ABCD cuenys.

(a) Draw a circle of radius 3 cm. From an external point 7 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.
OR

(b) Construct a cyclic quadrilateral ABCD with AB=7 cm, £A = 80°, AD=4.5 cm
and BC=5 cm.

47. (&) y=222 -an wedrULFmG aumrhg AHNBHEG 2x2+x—6=0 erenp
goaurl el g ST&se .
S|6V60 )

(=) @@ Ol urelen eflewe T 15 erans. LTElET DjeTeysd@GHL allenasEL
2 ateng Qsr_mienans & HId euanULLD UemTs. Sigener Lwer(hidS)
(i) eNdlssw wrHldlemws sras.
(i) 3 LT umedlenm edlepeveniid &TaRTs.

(a) Draw the graph of y=2x2 and hence solve 2x2+x—6=0.

OR

(b)  The cost of the milk per litre is ¥ 15. Draw the graph for the relation between the
quantity and cost. Hencc find :
(i) the proportionality constant
(if)  the cost of 3 litres of milk

-00o0-



